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What Do You

For the first six exercises, find the slo
-slope of the line that
below that contains a

correct answer. When
boxes in the spaces at the bottom of the pa

- Noawg: |
Call a Duck That Steals ?

pe of the line AB. For the remaining exercises, find the
passes through the two given points. Cross out each box in the rectangle
you finish, print the letters from the remaining

ge.
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_ OBJECTIIVE 5-h: To find the slope of a line given two points on the line {not using the graph).
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It You Need To Borrow Money?

< Use the slope and y-intercept to graph each equation below, The graph;
a letter. Print this letter in each box that contains the number of that exe

- Whom Should You See at the Bank =~

if extended, will Grogs
rcise.
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‘ OBJECTIVE 5-j: To graph a line given its equation in slope-intercept form. - _ C-45
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What Did the Ape Think of the Grape’s House?
For each exercise, draw the line indicated and write its equation. Find your answer in the £ SR8

. ;answer section and notice the two letters next to it. Print these letters in the two boxes at the
- bottom of the page that cont&!n the number of that exercise.
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OBJECTIVE 5-k: To find the slope and y-intercept of a line, given its equétion.

C—46



‘Why Does a Poor Man Drink Coffee?

. Usethe siopé_ and 'y-int_.efé_ep_t to graph -each;equ'atiop ‘below.---;}' he graph,fif éxtended,-‘ wil]
(" Ccross a letter. Print this letter in each i '
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OBJECTIVE 5~I: To graph a line given its equation {excludes vertical lines). C-47



Why Did the Cow Want a Divorce?

_._Graph each equation below. The graph, if extended, will cross a letter, Look for this letter in
M- string of letters near the bottom of the page and CROSS IT OUT each time it appears.
.en you finish, write the remaining letters in the rectangle at the bottom of the page.
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C-48 OBJECTIVE 5-m: To graph a line given its equation (includes vertical lines).



